CITY OF MANITOWOC WISCONSIN, USA www.manitowoc.org



CONSENT

18-0574

May 10, 2018

TO:

Mayor and Common Council

FROM:

Board of Public Works

SUBJECT:

2018 Asphaltic Concrete Paving

WS-18-4

Dear Mayor and Common Council:

At the May 9, 2018 Board of Public Works meeting, the Board met to receive ebids for 2018 Concrete Paving, Project WS-18-4. City Clerk reported having received one (1) e-bid. Same was opened and accepted online through Quest, and is as follows:

Bidder

Bid Bond

Amount

Vinton Construction Company

Bid Bond

\$169,745.66

"Moved by Alderperson Jim Brey, seconded by Staff Attorney Liz Majerus, and unanimously carried to refer the bids to the Director of Public Infrastructure for tabulation and recommendation. Ayes, 6. Nays, none."

Very Truly Yours,

DEBORAH NEUSER

Secretary Board of Public Works

Deborah Neuser, CMC, City Clerk CITY HALL · 900 Quay Street · Manitowoc, WI 54220-4543 Phone (920) 686-6950 · Fax (920) 686-6959 · dneuser@manitowoc.org



Contact Quest

Logout

The Construction Industry's Premier Bid Management System

Home

Bid Requirements

Bid Letting

Item Codes

Sonja Birr

#WS-18-4 ASPHALTIC CONCRETE PAVING (#5730218)

05/09/2018 04:00 PM CDT

Owner: City of Manitowoc, WI Solicitor: City of Manitowoc, WI

Show Evaluation Options

Sections shown in this color are not included in the Base Bid Total - Required completion

Sections shown in this color are not included in the Base Bid Total - Optional completion

Sections shown in this color are fixed and cannot be edited by the bidder

		1.1			Vinton Construction Company		
					ONLINE	Docs	
					Accepted		
Line Item	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	
BROADWAY	STREET - MICH	IGAN AVE TO 1,400 FEET SOU	ГН				
1	1	Mobilization	LS	1	\$6,700.00	\$6,700.00	
2	2	Traffic Control	LS	1	\$2,900.00	\$2,900.00	
3	3	Pulverizing Asphalt	SY	4052	\$0.96	\$3,889.92	
4	4	Fine Grading	SY	4052	\$2.22	\$8,995.44	
5	5	H.M.A. Pavement, Type 4LT 58-28S	TON	709	\$84.69	\$60,045.21	
6	6	Tack Coat	GAL	200	\$3.03	\$606.00	
7	7	Asphalt Curb	LF	3	\$25.25	\$75.75	
8	8	Sawing Existing Pavement	LF	130	\$4.00	\$520.00	
9	9	Furnish & Install Stone Trench	LF	90	\$45.00	\$4,050.00	
10	10	Erosion Mat, Urban, Class I, Type A	SY	33	\$5.00	\$165.00	
11	11	3" Pulverized Topsoil	SY	33	\$26.06	\$859.98	
12	12	Seed-Mixture No. 40, Fertilizer, Mulch & Water	SY	33	\$5.00	\$165.00	
Base Bid Total:					\$169,745.66		

Post Prelim Bid Tabs

Export to CSV

Done

NOTICE TO BIDDERS

Notice is hereby given that Vbids through Questcdn will be received by the Board of Public Works of the City of Manitowoc, Wisconsin, at the Engineering/Planning Conference Room in the City Hall at 4:00 P.M., Wednesday, May 9, 2018, for 2018 Asphaltic Concrete Paving, Project #WS-18-4, according to plans and specifications on file at the Department of Public Infrastructure.

Detailed specifications, with form of contract and bond, are available for a non-refundable fee of \$45.00 through Quest (project #5730218). A bid bond or Surety 2000 in the amount of 5% of the bid must accompany each proposal as a guaranty. The right to reject any or all bids or to waive any informality is reserved by the City.

ONLINE ELECTRONIC BIDDING THROUGH QUESTCDN IS THE ONLY WAY THE BID WILL BE ACCEPTED. TO ACCESS THE ELECTRONIC BID FORM, DOWNLOAD THE PROJECT DOCUMENTS AND CLICK THE ONLINE BIDDING BUTTON AT THE TOP OF THE ADVERTISEMENT.

SPECIFICATIONS ARE AVAILABLE FOR DOWNLOAD AT QUESTCDN.COM OR WWW.MANITOWOC.ORG. (QUEST PROJECT #5730218)

THE CITY OF MANITOWOC IS AN EQUAL OPPORTUNITY EMPLOYER AND DOES NOT DISCRIMINATE ON THE BASIS OF HANDICAPPED STATUS IN ADMISSION OR ACCESS TO, OR TREATMENT OR EMPLOYMENT IN, ITS PROGRAMS AND ACTIVITIES.

Dated this 23rd day of April
Published: April 25, 2018 and May 2, 2018
(Signed) Deborah Neuser, City Clerk
Published by authority of the Common Council of the City of Manitowoc, Wisconsin.

Memo To:

City Clerk

Subject:

Advertise for Bids

Project:

2018 Asphaltic Concrete Paving

(WS-18-4)

Date of Ads: April 25, 2018 & May 2, 2018

Date of Proof of Responsibility:

None

Date Bids are Due: Wednesday, May 9, 2018

Non-Refundable Fee for Plans (Questcdn Project #5730218):

\$45.00

Remarks:

Press Release to: Daily Reporter, McGraw Hill Construction Dodge, and Bid Ocean.com.

Approximate Quantities:

1,000 Tons HMA Pavement,

4,000 S.Y. Pulverizing

5,300 S.Y. Fine Grading

450 C.Y. Unclassified Excavation

200 S.Y. 8" Crushed Aggregate Base Course

Info for Obtaining Wage Rates from State:

Wage Rates Needed: No

Estimated Cost of Contract: N/A

Starting Date:

June 2018

Completion Date:

August 31, 2018

Dan Koski, P.E.

Dated: April 23, 2018

Director of Public Infrastructure

FORM #576